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SHM5F10H26H (K)

Mt

€:E3::) (BT : kg )
PeES i ] ==Y = 1B Z B fm &
BERFEE 718 |77 723 51
JU 240 30
B X 2,323 300
RAAIH LA 1,659 800
_~ 400 100
e 1,196 250
FA5 A 433 81
HFHS 130 20
>0OX/)VUlL 1,970 1,439
L ADE 2,215 869
AXF 930 209
JdEHAN 111 20
SFIA 3,489 509
TRIRD 2,000 200
< kDS A 670 30
Y= 1,340 300
BiE 2% IR S A 545 480
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[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
BERRE 71€ |TJU 36.5 150 100
E=5X 745.7 2,500 800
I5 A 109.2 2,300 300
AXF 264.8 1,000 600
#]D 24 E=5X 372.2 2,600 1,500
TEM 12 E=5X 31.5 2,000 1,300
aituE 1,559.9




